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« Please check that this question paper contains 11 printed pages.

+ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

. Please check that this question paper contains 30 questions.

« Please write down the Serial Number of the question before attempting it.

» 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 am. to 10.30 am., the students will read the
question paper only and will not write any answer on the answer-book during this
period.
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General Instructions :

(i)
(ii)
(iii)

(iv)

v)

All questions are compulsory.

This question paper consists of 30 questions divided into Jour sections ~ A, B, C
and D,

Section A contains 6 questions of I mark each. Section B contains 6 questions of
2 marks each. Section C contains 10 questions of 3 marks each. Section D
contains 8 questions of 4 marks each.

There is no overall choice. However, an internal choice has been provided in
two questions of 1 mark, two questions of 2 marks, Sfour questions of 3 marks
each and three questions of 4 marks each. You have to attempt only one of the
alternative in all such questions.

Use of calculator is not permitted.
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Question numbers 1 to 6 carry 1 mark each.

1.

A AP o A b, a=x3y? AU b= x % w9 7 fow 51 @ E, e x,
ST HEA &, @ @4, (LCM) (a, b) =141 51d Hifdye |

Two positive integers @ and b can be written as @ = ¢ y* and b= 2 x,y
are prime numbers. Find LCM (a, b).

&1 31! 6 o) w3 & w7
How many two digits numbers are divisible by3?

3Tt | 5, DE||BC, AD = | &l 21 BD = 2 4t 2 |
(A'ABC) @1 (A ADE) 3 aravheil & w1 a5 & 7 . e
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InFig. 1, DE||BC, AD=1cmand BD =2 cm. A
What is the ratio of the ar (A ABC) to the

ar (A ADE)? D E
B
Fig. |
UF 1 EH F7 (2, -3) ®, U A AB R | 32 fag B % Fdwms (1, 4) F @t
fo1g A % facamies Fma <hifs |

Find the coordinates of a point A, where AB is diameter of a circle whose
centre is (2, -3) and B is the point (1, 4).

ke % Tt WY o fore wfieRtor x2 + dx + & = 0 F gof Ireatesh g 7
Yt
ko 1 8 H F1d it e o wfietor 362 —10x+4 =0 F I TH-g@l *
o & |
For what values of %, the roots of the equation x* +4x+k =0 are real?
Or

Find the value of k for which the roots of the equation 3x? —10x+k =0 are
reciprocal of each other.

IS tan 2A = cot (A —24°) B, AT A &1 9 1 Fifor |
HUTT
(sin”33°+sin® 57°) &1 HH F1d Y |
Find A if tan 2A = cot (A —24°)
Or
Find the value of (sin? 33°+sin® 57°)

}
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Question numbers 7 to 12 carry 2 marks each.

7.

10.

il
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Find, how many two digit natural numbers are divisible by 7.
Or

If the sum of first » terms of an AP is n?, then find its 10th term.

@ﬁaﬁ@m%ﬁﬁﬁmmmw%aﬂtmmww%@
%mm%mﬁﬁqftmmmﬁﬁﬁsﬁamma‘t@aa@ﬁmﬁm
3T AT |

A game consists of tossing a coin 3 times and noting the outcome each time. If
getting the same result in all the tosses is a success, find the probability of
losing the game.

fagadt (1, - 3) 991 (4, 5) = faamt e t@rve, oA g S |
ﬁmﬁaaﬁm%,aama?rmum&ﬁawﬁgaﬁﬁémaﬁmﬁﬁm

Find the ratio in which the segment joining the points (1, — 3) and (4, 5) 1s
divided by x-axis ? Also find the coordinates of this point on x-axis.

@q@ﬁ@wmw(i)@mé@%aﬁaﬁ(ﬁ)zws%aﬁa
£} e ¥ 3 Y, e T |

" A die is thrown once. Find the probability of getting a number which (i) is a

prime number (ii) lies between 2 and 6.

¢ %1 91 F1a Hifere, afe et g ox+3y+(3-0)=0; 12x+cy-c=0 %

 ayqfefig w9 @ 3 T € |

Find ¢ if the system of equations ex+3y+(3-¢)=0; 12x+cy—c=0 has
infinitely many solutions ?
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12. FfdeTs weieA s & 1260 @9 7344 1 WewH wHmEds (HCF) T
T |
FHUAT
etz f5 aere fwd vAqUiE (49 +1) AT (4g +3) ¥ &9 I 8T 8, &l ¢
I8 QUi 2 |

Find the HCF of 1260 and 7344 using Euclid’s algorithm.
Or
Show that every positive odd integer is of the form (4g +1) or (4¢+3), where

g is some integer.
@ e - |
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Question numbers 13 to 22 carry 3 marks each.

13. 3x3+10x2—9x-4%mﬂwmﬁﬁmuﬁm@w1%|

Find all zeros of the polynomial 333 +10x% —9x -4 if one of its zero is 1.

14. séﬁﬁw%@@aﬁtséﬁéﬁﬁaﬁmm%l P 3R Q W wast @ TER
e farmg T 0 iR sl € 1 (STl 2 <R TP 1 Sag 1 |

ST 2
PQ is a chord of length 8 cm of a circle of radius 5 cm. The tangents at P and
Q intersect at a point T (see Fig. 2). Find the length TP.

* P
=l \5cm
(&)
T * 0
Q
Fig. 2

— EaE
o]
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15, Rz AR s 253 o arator e 2, R s 3 o s g d

16.

17.

18.

5

2++3 . o . . o
Prove that 1s an irrational number, given that J3 is an irrational

5
number.

g FIST % (sin 0+ cosec 0) +(cosO+secO)? =7+tan? O +cot2 9.
HYUgar

forg #3614+ cot A —cosec A) (1+ tan A +sec A) = 2

Prove that (sin 0+ cosec 0)% + (cos0+sec8)? = 7+ tan 8+ cot2 0.

Or
Prove that (1+cot A —cosec A)(1+tan A +sec A) =2

wﬂmﬁméﬁaﬁa&ﬁﬁm%uﬁ%sﬂqﬁ%m%lsaﬁﬁw
Il TRy A= A Y F AT F FH F GEE wnf | e A adum sy @
T |

HUIT
w firm -;- 2 el 3, el TEH 3 Y 2 TR S 2, i 2 -;- A A 2,

4 ¥ 1 g2 S | 98 i 3 i |

A father’s age is three times the sum of the ages of his two children. After 5
years his age will be two times the sum of their ages. Find the present age of
the father.

Or

A fraction becomes % when 2 is subtracted from the numerator and it

becomes —;— when 1 1s subtracted from the denominator. Find the fraction.

y-318 1 <Ig foig i I S g (5, -2) Ao (-3, 2) & wAgwA B |

HYIT
fgati A2, 1) @ B(S, -8) 1 firer amen Yamave fagst p aar v anfisfia
a1 & srafs P g A% freke 81 a3 P, 2x— y+k =0 g vew Y w off R

R, @k F OH I Fif |

Ehlq
=
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Find the point on y-axis which is equidistant from the points (5, —2) and
(-3,2).

Or

The line segment joining the points A(2, 1) and B(5, —8) is trisected at the
points P and Q such that P is nearer to A. If P also lies on the line given by
2x-y+k=0, find the value of k.

19. e AT sied 1 Sgas 91 i |

Gl

0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

NG 8 10 10 16 12 6 7

Find the mode of the following frequency distribution.

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequency 8 10 10 16 12 6 7

0. 6 ¥ = 3w 1.5 TRl uE e A aE 10 Befi/aar fi T F TR W21 30
ﬁﬁﬁ,%mﬁﬁﬁ%ﬂwzﬁ%ﬁmm,mﬁﬁé%ﬁ%ﬁsﬁtﬁnﬁ
Tt Y STETEEsd Bl € |

Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of 10
km/hour. How much area will it irrigate in 30 minutes; if 8 cm standing water

1S n

eeded ?

21, 3Ffd 3°, £ ACB =90° @1 CD L AB%, fag #ifsu % CD?> =BDx AD.

afe

C

D

A1 3

L E]
P @ Q FAN: A ABC #1 ywnaii CA @ CB W feorq foig € aon £ C

R 2, @t firg Ff B (AQ? +BP?) = (AB? + PQ?)
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22,

In Fig. 3, Z ACB = 90° and CD L AB, prove that CD> = BDxAD.
C

VAN

D
Fig. 3
Or
If P and Q are the points on side CA and CB respectively of A ABC,
right angled at C. Prove that (AQ? + BP?) = (AB? + PQ?)

sHfa 4 1, SEifRd & F1 d%a 319 AR¥Y, 9t ABCD wF sta @ Rraeh
eITd 8 Ui e 6 WY st B aAr O W HFE R | (n = 3.14 Thfvw)

Find the area of the shaded region in Fig. 4, if ABCD is a rectangle with sides
8 cm and 6 cm and O is the centre of circle. (Take = 3.14)
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Question numbers 23 to 30 carry 4 marks each.

23. AR sec O = x+$,x;t0, @l (sec 6 + tan €) I ST |

If sec 0 = x+%,x¢0, find (sec & + tan ).

24. g o o6 31 aaey Bifsll & awall &1 ST 3R T SIS o ST %
1l % SR BT & |

Prove that the ratio of the areas of two similar triangles is equal to the square
of the ratio of their corresponding sides.

25, Trafafad de ot Badt & 50 afirenl 6 e sma goiar 2|

afie ot (T ) 200-220 | 220-240 | 240-260 | 260-280 | 280-300
yfirent <t Tem 12 14 8 6 10
IWIH de hl Uh W FH YHR % Goil SHanal sed § sefere qom 36 dro
Hifaw |

areraT
e & 78 arferet et e % 25 witand = arr el w3 wd i R

wre e w1 2 arer @ 31d #ife |
P ed @H): 100-150 | 150-200 | 200-250 | 250-300 | 300-350
g i g 4 5 12 2 2

The following distribution gives the daily income of 50 workers of a factory.
Daily income (in¥) | 200-220 | 220-240 | 240-260 | 260-280 | 280-300
Number of workers 12 14 8 6 10

Convert the distribution above to a ‘less than type’ cumulative frequency
distribution and draw its ogive.

Or
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26.

27.

28.

The table below shows the daily expenditure on food of 25 households in a
locality. Find the mean daily expenditure on food.

Daily expenditure 100-150 | 150-200 | 200-250 250-300 | 300-350
(in%):

Number of 4 5 12 2 2
households :

@ Byt ABC 1w e R CA = 6 3, AB = 5 39 qo BAC — 45°
ﬁlm@mﬁwﬁmﬁﬁqﬁaﬁaﬁﬁMBcﬁwtmaﬁaﬂg

TR
Construct a A ABC in which CA = 6 cm, AB =5 cm and £ BAC = 45°. Then

construct a triangle whose sides are % of the corresponding sides of

A ABC.

% % foreh % SR R S & Gelt U I H AT 123088 CERCEIS S
T 90 e e g Rl o) et s 20 &t 99T 12 & 3 | Ao
TS AT 39F A F o) UTg =l |TE T S 19 Fifwo | (m = 3.14 =ifsr)
A bucket open at the top is in the form of a frustum of 2 cone with a capacity

of 12308.8 cm®. The radii of the top and bottom of circular ends of the bucket
are 20 cm and 12 cm respectively. Find the height of the bucket and also the
area of the metal sheet used in making it. (Use = 3.14)

1ooﬁﬁwmmﬁ§@maﬁéwgmarﬁszﬁqzﬁwm
% TR % T3 0 A 60° @ 30° waeral gan W ) w9y fie i g A

e 1 i | [J§=1.732?ﬁﬁmj

U7
TH 80 ﬁ%m%ﬁwm—mwmaﬁaéﬁaﬁg%m
aﬁ@ﬁ%aﬁam%@ﬁgﬂéﬁ%ﬁm%mm.m: 60° 37T 30°
&) @i st e aiv i @ firg A g I B

A man in a boat rowing away from a light house 100 m high takes 2 minutes
to change the angle of elevation of the top of the light house from 60° to 30°.

Find the speed of the boat in metres per minute. [Use V3= 1.732]

30/1/3 10




29.

30.

30/1/3 1 P.

Or
Two poles of equal heights are standing opposite each other on either side of
the road, which is 80 m wide. From a point between them on the road, the
angles of elevation of the top of the poles are 60° and 30° respectively. Find
the height of the poles and the distances of the point from the poles.

2 % el U 1Y U 2 h 1% Hal 3 T g & | q A ATl T 3

mﬁﬁ,mmm@rwﬂzﬁ%mm@m%lmwmm%hﬁ
T 1 G T Al |

areraT
wF 9@ 10 =€ § G % gfagd 30 Rreft @on T ¥ T 44 T ST 81113
3 1 77 40 P o 3 wfet U@ 55 PR G % STgERe S @ | R =
e 7 i R s | =1t 1 i |

Two water taps together can fill a tank in 1% hours. The tap with longer

diameter takes 2 hours less than the tap with smaller one to fill the tank
separately. Find the time in which each tap can fill the tank separately.

Or
A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstream. Determine the speed of the
stream and that of the boat in still water.

f s T A % WU A El 1A 40 B TUT JH 14 92T %1 A0 280 ® |
=0 S F WU 5 9ET T A FE HIAC |

If the sum of first four terms of an AP is 40 and that of first 14 terms is 280.
Find the sum of its first » terms.
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